£330 RILBEIZ/NRT v FMN—IVRBARZILRAE R

(8FDE) 2014510858 (1B)
BiECR% BYABEA INRIVABEE IERH=NER
tR2fi1 L=lnvelivi Bld st v Gyelivd Bldz1s)ivi Hho
It ] e 18 IR S K | AKX Z
1 110: 00~ 12 - 10 13 13 6 §)
12 - 21 17 10 11 4
48 14 - 12 53 | 52 14 14 49 | 43 10 0 17
10 - 10 8 12 16 7
kR 111 Iy Rivl Bldzicivi NG Bld YXivi wh4ha
mMTS  ELZR| = IR fig B | = 8 5 = H
2111 :05~ 12 - 14 11 10 6 13
17 - 11 8 6 2 12
57 37 | 45 31 24 53
1M1 - 4 8 6 10 10
17 - 8 18 9 ) 18
L2 gEg2f | =L 5 ht 138 5 i1 | HIA 6 i I8 6 fiz
8 M D £ X AEF| B I 5 B
3 (12:10~ 13 - 10 33 ’ 3 15
7 - 10 13 8 6 10
37 6 - 4 30 | 68 16 4 20 | 25 4 10 42
11 - 6 6 1 12 ¥
NI FIB 1 I ) HIL 31 HIE8 1) FHIL 41 B8 4 fi1
FTIE ERSS| 8 B P B |ITEEH ©SE=2
4 (13:156~ 7 - 8 13 8 9 12
6 - b5 15 6 8 14
33 12 - 10 29| 4 10 14 45 13 15 o3
8 - 6 11 8 15 12
FEs211 JbR21f1) $lE 51z plazstivd Eill=:Ys}ivi tR6fI
R tRE|XEE BB AR
5114 : 20~ 12 - 14 4 20 6 18
12 - b 14 4 3 4
32 4 - 10 35 | 40 10 10 23 4 8 38
4 - 6 12 17 10 8
ST i bR 1) #les 31z plaz¥ciivd [F:[l=:FaRivi R4k
ERSS MNITIS| A & EPE—‘;S% =B
6 |15: 25~ 18 - 2 4 12 16 6
6 - 6 2 8 6 8
40 24 | 22 39 30
10 - © 4 10 9 §)
6 - 10 12 10 8 10

ERMXIZ/NRT v bR —)iER




£330 Riv@e

TN Ty

FR—IVRBEAZIER KRS #5R

(ZZFD8k) 201451085801
BREEES B AEEEB [ERVAZNSTEE JERPRIMEEEE
tR21u BIL2fI| LR 411 wBh4) IR 6111 BIL6I
N R ETIR| £ % B Ik |[IRTSG AKBR
1 [10: 00~ 15 - 9 5 - 4 10 - 5
16 - 7 10 - 8 6 - 4
67 40 | 31 39 | 28 32
16 - 8 12 - 11 9 - b
20 - 16 4 - 16 3 - 18
R g Riv] Blazic]ivi GNcivl Blaostivi BILS
7 i X 18 R Az | & E ER
2 |11 :05~ 16 - 2 8 - © 12 - 18
16 - O 6 - 2 5 - 8
69 25| 28 10 | 38 48
24 - 11 4 - 2 10 - 12
13 - 10 - O 11 - 10
w21 BlES2f| L4 R84 1] L 61 IES 611
EXTIR BRSS| B 1t 8 E | AHFR ZRAQ
3 [12:10~ 17 - 8 3 - 14 5 - 6
9 - 15 11 - 12 12 - 4
39 47 | 28 60 | 39 20
5 - 12 6 - 18 14 - 4
8 - 12 8 - 16 8 - 6
Ly livd FIES 1 RI) FL 31 I8 SR FHIL S #8511
8 B BB | X = gl B | AL E R Bl &
4 113:15~ 6 - 12 6 - 3 23 - O
9 - 13 12 - 5 5 - 8
31 48 | 32 18 | 45 24
7 - 5 6 - 5 12 - 8
9 - 18 8 - 5 5 - 8
glIEs2f1 LR 2A1) SIES 411 LR 4] SR8 6 fiz JtR61u
SRS S N R | B B £ IR |ERAQ MNITSG
5 (14 : 20~ 14 - 12 10 - 6 8 - 8
10 - 18 6 - 4 4 - 8
48 49 | 50 29 | 20 38
13 - 10 19 - 9 6 - 8
11 - 9 15 - 10 2 - 14
IES 1 iz pla=NEivi Eollzetivd LR 3] SR8 S iz JER 51
= B a8l R mE| B & =
6 [15: 25~ 15 - 12 6 - 4 18 - 14
10 - 8 4 - 8 10 - 11
41 853 | 21 30 | 55 44
4 - 19 9 - 10 16 - 4
12 - 14 2 - 8 11 - 15

FERMXIZ/N\NRT v bR —)LiER




